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He derives 10283 I09INA - A% INPINA INDINA

Overview

X111 92 X117 27 posed a query to NWW 27; can an ¥"Y who is sold to a ™21 be 7R
TR¥1? or not. Do we derive through the w"ix of IN?IRA IN7IRA that just as by
redeeming a 7MAR 7T it cannot be PR YR, the same applies to an o017 V'Y
215, or do we say that we utilize 13 NP3 only X91P% but not X¥». Our
nmooN clarifies what is this T11°% of INIRY INPIN.
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It is the view of the n''= that this 1N1X3 107X is not an actual @''s3, but rather it

is merely a xnbn %93, MooIN proves his point -
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For if it were an actual @''t3, how therefore can the X773 state, ‘or perhaps we

utilize 107X 1N9X) to be lenient on the 72V, but it is not utilized to be strict on

the 72y’ -
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For since it is a @''ta we need to derive from it the rules in all cases, whether
they are strict, or whether they are lenient, for there is no half-way w''sa.

mooIn offers an additional proof to this conjecture.
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! Regarding the redemption of a nnnX 77w the P09 states (in 13,73 [772] X7p*Y) that N?IRA 273 R¥MY, that he must have
the full amount in order to be %X, a partial 779X is not permitted.

2 Regarding the redemption of an *1317 191171 ¥"v the P09 states (in K3, [172] X7p”) that W23 22w 171°07; the same
word "N as by I1InX 77w, we can therefore derive *1317 15217 V"V from 71NR 772 that PRYAY DR PR.

? Xnm "2° means it reveals the meaning. The 70 writes 123 by ¥y, however we are not sure what that means,
so since the 77N writes 1NN by AR 77w, and there it means a complete T21R3 (not a PRXIY 77IX3), since it says
there 123 73 (see footnote # 1), this teaches us that the 1n7X3 by ¥"y must also mean a complete 7783, but not a
PRI 71983 However, it is not a w"1a that we derive the law of ¥"v from the law of annx 77W.

* If 1n91%3 1NN s an actual W't (which was handed down from *0n fiwn) there is no equivocating; it applies in all
circumstances X112 121 X7p% 1°2. However if it is merely a Xn?» "17°3 that 7983 generally is not done PR¥?, we
can say that this only applies if it effects the 72y negatively however if it effects the 72¥ positively perhaps then he is
7°RYMTY YR because we see that the 7710 seeks to help out the 72v (like by 5°00m m*aws, etc.).

3 amin W °na are houses in a walled (fortified) city. The P09 states (in v3,72 [772] X7pP"1), that 2Yin N3 757 "3 ¥R
NI 727A 0°02 120 NIY oR 7Y NP3 A0 anin %Y. He has one year to redeem it after it was sold. The word 1?2183
appears there as well. The question is whether it can be PR¥I? 983 or not (since we derive 1NN NRA from 77w
TINK).

% The view that 7271 ™ *N2 can be PXEAY X3 maintains that only by 71nX 77w where the 7m0 was 723» that it is not
7PRYMY YR (by writing 1N7IRA >72' [see footnote # 1]), is it not XYY PR3, but this does not apply to 211 >y °n3, since
the 770 was not ;393 there this restriction.
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And so it seems shortly in our X713 regarding ;7727 39» sn2 where the Xn) states,
‘wherever the P09 revealed this law (of 7RXm% HXa1 7°R), it was revealed, but

where this law was not revealed it is not revealed -
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And if 109X IN7INY is an actual w''ta, then even where it is not revealed (by °n2
1 2Y) it should also apply.

Summary
IN7IRA INDINA is merely a Xn?°1 "12°3, but not an authentic ",

Thinking it over
1. Mmoo previously stated,® "PnrraS XOX pr% Y107 WA K1 X9T 0wn'; how can

we reconcile this with our Moo which states, 12 X?1P% 1°2 MW 737°13 177 1170 X'
'TXMNY MW 77T PRT AR 19 1R Xns?!’

2. Which is the stronger ‘proof” that 101X N7 is not a 7713 ", from the case
of >1217 121171 ¥"', or from the case of I 1w *na?"’

" The whole point of a w"x is to teach the law in another place where it is 3 X9; how can the X3 say X2 *23 K7 X271
"3 if it is an authentic w"1a. This proves that 121X 1N is merely a Xn?°n 197 (where appropriate).

8 1,3 at the very end of 7wX1 77"7 '01n (which begins on X,3).

? See mwn nom1 (here and there) and 3pn NI 777 QN N2

10 See (22073 2771 "9) 237 N
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